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PART - A

Answer all the questions.

1.Where was the Poet he started writing the poem “Prothalamion” ?

(a)Westminster Bridge
(c)Banks of River Nile

(b)Mount Alps
(d)Banks of River Thames

2. What is the 'Stamped Face' referred to by John Donne in his “Canonization”?

(a)holy face
(c)Coin

3.Who is the 'Busy Old fool ' according to John Donne?

(a)God
(c)his father

4The West Indies are known for

(a)Deserts

(c)Diamond mines

SHow does Satan plan to avenge God?

(a)by entering Earth

(c)by creating Pandemonium

(b)a portrait

(d)face in stamp

(b)his old friend
(d)the sun

(b)Gold mines
(d)coal

(b)by harming God's creation - Man
(d)by ruining heaven
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6Who is crowned as the King of the Realm of Nonsense?

(a)Dryden (b)Shadwell
(c)Shakespeare (d)Queen Elizabeth

‘TAfter how many years is the Poet revisiting “Tintern Abbey”?

(a)five (b)ten

(c)twelve (d)seven

8.What is the name of the river mentioned in the poem “Tintern Abbey”?

(a)River Nile (b)River Thames
(c)River Wye (d)River Volga

9.Keats presumes that the scene depicted in the Urn is set in

(a)India (b)Byzantium
(c)Tempe (d)heaven

10. What is the Grecian Urn made of?

(a)Marble (b)Stone
(c)Gold (d)Silver
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11. what does the Lady of Shalott do all the day to take her mind off her situation?

(a)She weaves (b)She sings
(c)She sleeps (d)She prays

12. Who is the Speaker in the poem “My Last Duchess’™?

(a)The Duke (b)The Duchess
(c)The emissary (d)The painter

13What is the Duke's first wife's name?

(a)Lucrezia (b)Lucetta
(c)Elizabeth (d)Emma

14Why has the Oxford Scholar given up his education?

(a)he could not afford (b)not interested in studies

(c)to roam around with a group of gypsies (d)To be with his ailing father

15. Sailing to Byzantium is about

(a)lrish culture (b)Irish Revolutionaries
(c)Redemption of Man (d)Regenerating the art and culture that existed in
Byzantium
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16.

17.

18.

19.

20.

The Unreal City is
(a)London (b)Byzantine
(c)Paris (d)Rome

"Life closed twice" - what does Emily Dickinson mean by this?

(a)career opportunities closed twice (b)lost her studies

(c)lost her parents. (d)ymet with accident twice.

What can bend the Birches down to stay?

(a)lce- storm (b)a boy playing

(c)heavy rain (d)animals playing on the birches

What does "Their enamel " mean in the poem The Birches?

(a)A hard white covering on the teeth (b)White coating of snow
(c)the paint (d)a thick line drawn

What does the Pigeons flying in the 'ambiguous undulations' represent?

(a)desires (b)people wandering aimlessly

(c)birds flying carelessly (d)ambiguous speech
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21.

22.

23.

24.

25.

In The Weary Blues, the musician's tune is ------

(a)happy (b)sad
(c)furious (d)thoughtful

What the poet refer to by the word 'Herr'?

(a)Hitler (b)her mother
(c)a Nazi Doctor (d)her father

What does the speaker in the Poem Lady Lazarus mean when she says, "She has done it again"?

(a)She has given birth to a baby (b)she has attempted to commit suicide

(c)She has cleared an exam (d)she has written a poem

Who according to Eliot are the sufferers of their own extemporaneous fraud?

(a)less talented poets who exploit the talent of genuine (b)fraudulent publishes
poets

(c)Teachers who are dull and boring (d)A talkative person

How has A K. Ramanujam described the City of Madurai ?

(a)As a city of temples and poets (b)as a city of superstitions

(c)as a city of farmers and agriculture (d)as a city of palm readers and astrologists
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26.

217.

28.

29.

30.

What does the title “The Old Play house” signify?

(a)the poet's childhood memories (b)crumbling of a relationship

(c)speaker's desire for a new life (d)passing of time

Who are referred to as 'Lords' in the society according to Keki Daruwalla?

(a)the in-laws family (b)upper class family
(c)the priests in the temple (d)the landlords

What does A.D. Hope's reference to Sphinx signify?

(a)Australia's long history (b)alien
(c)Bird (d)Ship

What does the Great House symbolize?

(a)European empire (b)White house
(c)Parliament building (d)A dream house

How was the Schoolmate looking when she was in her school days?

(a)irresponsible and stupid (b)well read and intelligent

(c)Charming (d)Captivating
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31. “Telephone Conversation” is a conversation between

(a)Black and a White Lady (b)Two Africans

(c)Two Americans

32. Why does the Black Man call the white Lady?

33.

34.

35.

36.

37.

38.

39.

40.

(a)He 1s looking for a place to stay.
(c)Because the White Lady was his boss

In the Month of July talks about the violence that took place in the year

(2)1947 (b)1918
(c)1983 (d)2000
PART - B

Answer all questions choosing either (a) or (b).

(a) Summarise the poem “Prothalamion”

[OR]

(b) Bring out the epic features in “Paradise Lost”
(a) Discuss “Tintern Abbey” as a Romantic Poem

[OR]

(b) Unheard melodies are sweeter. Establish

(a) Write a note on the images used in the poem “Byzantium”.

[OR]
(b) Bring out the significance of London - the Unreal city.

(a) Describe Emily Dickinson's obsession with death.

[OR]
(b) Discuss the use of myth in T.S. Eliot's “The Waste Land”

(a) Analyse those stanzas in Lady Lazarus where in the poet says her true calling lies in death.

[OR]
(b) How does The Old Play House throw light on the plight of women

(a) Attempt a critical appreciation of the poem “The twenty-fifth anniversary of a Republic” 1975

[OR]

(b) Consider music as the theme of the poem Moschus Moschiferus
(a) Evaluate the title of the poem Children of Wrath.

[OR]
(b) What does the title of the poem In the month of July allude to?

(b)He is looking for a job

(d)An Indian and an American

(d)He wants to marry a White Lady
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Answer all the questions.

1. According to Bacon 'Truth' is like a

(a)Pearl (b)gold
(c)Diamond (d)Carbuncle.

2. According to Bacon who are not easily convincible?

(a)Intelligent minds (b)Doctors
(c)Skeptical minds (d)Teachers

3. What was the medium of education during the time of Milton?

(a)English (b)Latin
(c)Hebrew (d)Spanish

4. Who is the head of the Spectator Club?

(a)Addison (b)Steele
(c)Milton (d)Sir Roger de Coverly

5. The New Year's Eve refers to the requited love between

(a)Charles Lamb and Ann Simmons (b)Elizabeth and Browning
(c)Spenser and his Lady Love (d)Romeo and Juliet
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6. Charles Lamb humoursly calls himself as

(a)stammering buffoon (b)clown
(c)World's wittiest (d)imbecile

7. What is Lamb's Grandmother's name?

(a)Alice Field (b)Rosy Field
(c)Elizabeth Jane (d)Bertha

8. Milton's house is located in Spread Eagle in

(a)Bread Street (b)Bertha street
(c)Fifth Avenue (d)Brown street

9. Who is the Father of Italian Language according to Carlyle?

(a)Shakespeare (b)Chaucer
(c)Dante (d)Jonson

10. Whose 'Seeing eye" refused to see the destruction and hopelessness and sorrow?

(a)Dante (b)Shakespeare
(c)Goethe (d)Milton
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11 George Orwell had predicted that the world would end in

(2)2000 (b)1984
(¢)1990 (d)2020

12. According to George Orwell, all lonely children

(a)beg to be cared for (b)seek attention
(c)love solitude (d)start talking to imaginary people.

13.The word play in Paradise Lost influenced George Orwell to write

(2)1984 (b)Burmese days
(c)Animal Farm (d)Down and Out

14. How does Emerson define "genius"?

(a)to have all the knowledge in the world (b)to believe your own thoughts and follow your intuition

(c)practicing generosity (d)to become acquainted with the natural world

15What is Emerson's overall opinion of society?

(a)Society helps people achieve their potential (b)we must accept society's rules
(c)society is all that stands between us and the force of(d)society conspires to deny people their individual freedom

chaos
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16What was Thoreau's primary act of Civil Disobedience in his own life?

(a)refusal to pay taxes
(c)destruction of public property

17What does Thoreau use as a metaphor for government?

(a)Machine

(c)train

18What are Ngugi's native languages?

(a)Greek and Latin
(c)Hebrew and Latin

19Who is the first Kenyan writer to be published in English?

(a)Wole Soyinka
(c)Maya Angelou

20.Along with English language , Ngugi states that

(b)public rallies and protests

(d)refusal to get formal education

(b)Ship
(d)Light house

(b)English and French
(d)Gikuyu and Swahili

(b)Ngugi
(d)Alice Walker

is a remnant of Colonial period

(a)English culture
(c)English foods

(b)Christianity
(d)English way of dressing
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21.What is the greatest tool of the Fascist Government according to Ngugi?

(a)English Language (b)Christianity

(c)life threatening weapons (d)Fashion

22.What are the two Super Powers Russell is talking about?

(a)USA and UK (b)USA and USSR
(c)USA and France (d)UK and China

23. Why does Stephen Leacock go to the Bank?

(a)To meet the Manager (b)To lodge a complaint

(c)To open an account (d)To learn about the banking rules

24How much did the narrator want to deposit in the bank?

(a)one million dollars (b)several million dollars
(c)56 dollars (d)10,000 dollars

25Where did the narrator go after coming out of the Manager's room?

(a)he entered the safe (b)he entered another bank

(c)he entered the accountant's cabin (d)he entered the cashier's cabin
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26.How much did the narrator write on the cheque instead of Six Dollars?

()10
(©)25

27Who was Mr. Montogemery?

(a)Manager in the bank

(c)Accountant in the Bank

28What is Robert Lynd's observation on absent mindedness?

(a)exceptional

(c)common

29.What is required for survival in any modern city?

(a)Intelligence

(c)fame

30Who according to A.G. Gardiner play 'Hide and Seek'?

(a)Children
(c)people who pick up other people's things by

mistake

(b)56
(d)100

(b)Security officer
(d)Chairman of the Bank

(b)rare
(d)appreciable

(b)good education
(d)efficient memory

(b)Thieves

(d)Policemen
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31.What did the famous Preacher had in his pocket when he was found dead?

(a)third class train ticket
(c)his wallet

32What is ' Unpardonable ' according to A.G. Gardiner?

(a)Picking up other people's hat
(c)stealing other people's Umbrellas

(b)a first class train ticket

(d)a suicide note

(b)failing to return books

(d)picking up spoons from dinner table

33What did the author do when he found out that the umbrella belonged to a politician?

34.

35.

36.

37.

38.

39.

40.

(a)he dispatched it to the politician with an apology
letter

(c)he left the umbrella in a park

PART - B

(b)he went back to the host's place to return the umbrella

(d)he handed over the umbrella in the nearest police station

(7X 6=42)

Answer all questions choosing either (a) or (b).

(a) Is Ambition only for male gender? Justify.

[OR]
(b) Why does Bacon disbelieve in God?

(a) What is the purpose behind writing biographies according to Johnson?

[OR]

(b) Comment on the prose style of Addison and Steele

(a) Narrate the essay The South Sea House by Charles Lamb

[OR]
(b) Describe the Grandmother's life in the Manson.

(a) Why George Orwell writes? List his reasons

[OR]

(b) Summarise The Conditions of Civilization.

(a) List the issues discussed in Civil Disobedience.

[OR]

(b) Native Language Vs English. Enumerate Ngugi's opinions.

(a) Does Russell believe in nuclear weapons? Discuss in detail.

[OR]

(b) Are banks customer friendly? What is your opinion?

(r) Bring out Robert Lynd's opinion forgetfulness.

[OR]
(b) Why do people pick up other's things? Discuss.
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Answer all the questions.

was inspired by Menander.

(a)Plautus
(c)Euripides

2. ——- means spectacle.

(a)opsis
(c)dianoia

3. Arnold Wesker is known for his contributions to

(a)Theatre of Absurd

(c)Kitchen sink drama

4. was murdered by Oedipus.
(a)Laius
(c)Theseus

5. Oedipus has - children.
(a)2
(c)4

(b)Terence
(d)Aeschylus

(b)lexis
(d)peripeteia

(b)Theatre of Cruelty
(d)Medieval drama

(b)Creon
(d)Tiresias

(b)3
(d)5
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10.

At the beginning of the play, Oedipus sent Creon to

(a)to the Oracle of Delphi
(c)to Corinth

Mrs. Linde came to town )

(a)to reunite with Krogstad

(c)to look for work

.

— discovered Nora’s forgery of her father’s signature.

(a)Torvald
(c)Linde

- invited Faustus to his palace.

(a)Charles 1
(c)Charles IV

Faustus left behind all his belongings to

(a)Valdes

(c)Bruno

(b)to find Laius
(d)None of the above

(b)to find her father

(d)to enroll in school

(b)Dr.Rank
(d)Krogstad

(b)Charles II
(d)Charles V

(b)Wagner
(d)Cornelius
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11.

12.

13.

14.

15.

appeared in the disguise of Franciscan Friar in front of Faustus.

(a)Mephistopheles (b)Lucifer
(c)Belzebub (d)Belial

Tony Lumpkin drinks with friends

(a)In the garden (b)In his bedroom
(c)At the Three Pigeons (d)At Inn

The play She Stoops to Conquer was dedicated to :

(a)Ben Jonson (b)Samuel Johnson
(c)Horace Walpole (d)None of the above

- accused Stanley of killing his wife.

(a)McCann (b)Petey
(c)Meg (d)Goldberg

The name of Lulu’s first love is

(a)Eddie (b)Stanley
(c)John (d)Petey
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16.

17.

18.

19.

20.

T.S. Eliot’s The Cocktail Party has —- acts.

(a)2
(c)4

Sir Henry Harcourt - Reilly is a
(a)Psychiatrist
(c)Psychologist

(a)Frank’s

(c)Jim’s

According to Ann, Larry’s plane crashed in—-.

(a)Japan
(c)New Zealand

dramatist.

George Ryga is a

(a)African

(c)Australian

son constantly takes people’s temperature.

(b)3
(d)5

(b)Physiotherapist
(d)Pathologist

(b)Joe’s
(d)Ann’s

(b)China
(d)Australia

(b)American
(d)Canadian
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21.

22.

23.

24.

25.

Rita Joe was given to assemble witnesses.

(a)6 hours
(c)12 hours

Eileen Joe leaves the city because

(a)She isn’t able to find any work
(c)She get into legal trouble

Tughlaq decided to shift the capital from Delhi to

(a)Mehwar
(c)Daulatbad

Aziz poses the role of .

(a)Barani
(c)Sultan

The play Silence! The Court is in the Session was translated into English by ——.

(a)Girish Karnad
(c)Vijay Tendulkar

(b)8 hours
(d)24 hours

(b)She gets too cold in the winter

(d)None of the above

(b)Aurangabad
(d)None of the above

(b)Najib
(d)Vishnu Prasad

(b)Priya Adarkar
(d)Khushwant Singh
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26.

27.

28.

29.

30.

Leena Benare was sexually exploited by——.

(a)Sukhatme
(c)Prof. Damle

(b)Mr.Kashikar
(d)Samante

For oath- taking in the court, Balu Rokde brings the book of —-.

(a)Oxford Dictionary
(c)Bhagavad Gita

Padmini is a daughter of :

(a)Lawyer
(c)Woodcutter

The narrator of the play Hayavadana is
(a)Kapila
(c)Bhagavata

Big Daddy is dying of —-.
(a)Liver disease

(c)Leukaemia

(b)Social Science
(d)Quran

(b)Merchant
(d)Priest

(b)Devadatta
(d)Hayavadana

(b)Heart disease
(d)Cancer
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

The names of the plantation’s owners are :

(a)Straw and Othello
(c)Ochelloand Sawyer

Sir Oliver disguised as a

(a)Money lender
(c)Merchant

returns to the stage to recite the epilogue.

(a)Maria
(c)Lady Sneerwell

Answer all questions choosing either (a) or (b).

named Mr.Premium.

(b)Straw and Ochello
(d)Othello and Sawyer

(b)Postman
(d)Priest

(b)Lady Teazle
(d)Mrs.Condour

PART - B

(a) Write notes on some important modern dramatists.

[OR]

(b) Explain the significance of chorus in Oedipus Rex.

(a) Highlight the theme of marriage and love in 4 Doll’s House .

[OR]

(b) Elucidate the function of the Good Angel and Evil Angel in Dr. Faustus.

(a) Sketch the character of Tony Lumpkin in She Stoops to Conquer.

[OR]

(b) Discuss how society and the individuals are depicted in The Birthday Party

(a) Describe Eliot’s early life and literary career.

[OR]

(b) Discuss the themes of the play All My sons.

(a) Examine the theme of marginalisation and victimisation in the play The Ecstasy of Rita Joe.

[OR]
(b) Consider Tughlaq as a historical play.

(a) Briefly describe the dramatic techniques used in the play Silence! The Court is in the Session.

[OR]

(b) Explore the themes of the play Hayavadana.

(a) Write notes on the plot construction of the play Cat on a Hot Tin Roof.

[OR]

(b) Examine Sheridan’s The School of Scandal as a comedy of manners.
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Answer all the questions.

1. The term used by Aristotle for the imitation of character and action of the play is

(a)Anagnorisis (b)catharsis
(c)Mimesis (d)peripeteia
2. ——— means the moment of recognition or realisation in tragedy.
(a)catharsis (b)Anagnorisis
(c)hamartia (d)peripeteia

3. According to Aristotle,

- is the most important element of tragedy.
(a)thought (b)character
(c)diction (d)plot

4. Philip Sidney defines poetry as an art of

(a)imitation (b)invention

(c)imagination (d)innovation

5. Romans called a poet
(a)teacher (b)doctor
(c)vates (d)god

N-1589

COURSE CODE

205214

Maximum : 75 Marks
(33 X 1=33)



Sidney divides poetry into - kinds.
()2 (b)3
(c)4 (d)>

To Wordsworth, poetry is a spontaneous overflow of powerful feelings and emotions recollected in
(a)tranquillity (b)images

(c)simple life (d)imagination
The principal object in the Lyrical Ballads was to choose incidents and situations from ———.
(a)agrarian life (b)urban life

(c)genteel life (d)common life

According to Wordsworth, the function of poetry is to give

(a)pleasure (b)purgation

(c)instruction (d)exaltation

is the father of English poetry, according to Arnold.
(a)Chaucer (b)Shakespeare
(c)Wordsworth (d)Dryden

N-1589




11.

12.

13.

14.

15.

In “Study of Poetry”, Arnold puts stress on in poetry.
(a)bright humour (b)high seriousness
(c)sensuousness (d)all the above

In the analogy of catalyst, the platinum shred stands for
(a)The mind of the poet (b)poet’s thoughts

(c)poet’s emotions (d)poet’s feelings

The final part of “ Tradition and Individual Talent , begins with a paraphrase from
(a)Plato’s Republic (b)Homer’s Odessey
(c)Aristophane’s Clouds (d)Aristotle’s de Anima

Edgar Allan Poe’s “The Philosophy of Composition *“ was published in the year
(a)1826 (b)1936
(c)1846 (d)1856

According to Aurobindo, the poetic word is a vehicle of the
(a)soul (b)spirit

(c)expression (d)all the above
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16.

17.

18.

19.

20.

Carl Jung was born in
(a)Switzerland (b)Australia
(c)Norway (d)Canada

“ Freud and Literature” was written by ——-.
(a)C.G. Jung (b)Northrop Frye
(c)Lionel Trilling (d)Jacques Derrida

criticism will help the reader in understanding the pattern of text.

(a)historical (b)social

(c)archetypal (d)structural

Frye classifies myths into - categories.

(a)4 (b)3

(©)5 (d)6

According to Frye, both the inductive and the deductive methods are effective tools in criticism.
(a)structural (b)mythical

(c)historical (d)psychological
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21.

22.

23.

24.

25.

defined form as * an arousing and fulfilment of desires”.

(a)Harold Bloom (b)Roland Barthes
(c)Linda Hutcheon (d)Kenneth Burke
Roland Barthes is a critic.

(a)American (b)Canadian
(c)French (d)Italian
Semiotics is the study of -

(a)language (b)signs
(c)images (d)structure

The lecture * Structure, Sign and Play in the Discourse of the Human Sciences” was published in the book:
in 1967.
(a)Writing and Difference (b)Deconstruction

(c)Structure , Sign and Play (d)Course in General Linguistic

Derrida gave importance to
(a)Structure (b)Sign
(c)play (d)Structurality of structure
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26.

27.

28.

29.

30.

According to Derida, There is nothing outside
(a)Writer
(c)Reader

According to Mark Schorer, when we speak of technique,we speak of

(a)everthing
(c)Nothing

Mark Schorer focuses on the works of
(a)H.G wells

(c)James Joyce

In Feminist Critique, the woman is a

(a)writer

(c)observer

The distinguished sign of the feminine phase is
(a)Male pseudonyms
(c)self discovery

(b)Text
(d)None of the above

(b)something
(d)All the above

to prove his point.

(b)D.H. Lawrence
(d)All the above

(b)reader
(d)critic

in a work of art.

(b)wronged ideals of womanhood

(d)all the above
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31. “ Amazon Utopias” are related to - phase.
(a)The Feminine (b)The Female
(¢)The Feminist (d)None of the above

32. The essay “ Eruptions of Post Modernity: The Postcolonial and the Ecological” was written by
(a)Northrop Frye (b)Linda Hutcheon
(c)John Sutherland (d)Margaret Atwood

33. According to - the kind of society that is human order is vulnerable, contingent and devoid of reliable

foundations is called modern.

(a)Elaine Showalter (b)Linda Hutcheon
(c)Mark Schorer (d)Zygmunt Bauman
PART - B (7X6=42)

Answer all questions choosing either (a) or (b).

34.  (a) Why does Aristotle consider plot the most important constituent of drama?
[OR]
(b) How did Sidney react to Stephen Gosson’s “ The School of Abuse “?
35.  (a) Justify Wordsworth’s *“ Preface to Lyrical Ballads” as the manifesto of the romantic movement.
[OR]
(b) Describe Arnold’s three estimates of poetry.
36. (a) How did Eliot illustrate the relationship between tradition’ and ¢ individual talent’?
[OR]
(b) Explain Edgar Allan Poe’s theories of Composition with special reference to the poem *“ The Raven”.
37.  (a) Elucidate Freud’s influence on literature.
[OR]
(b) Highlight the concept of archetypal criticism.
38.  (a) Bring out the significance of meaning and form in Harold Bloom’s ““ The Breaking of Form™.
[OR]
(b) Describe the features of Roland Barthes’ essay “ Criticism and Language”.
39.  (a) Explain Derrida’s perspectives on Levi Strauss’ theory of Binary Opposition.
[OR]
(b) Why did Schorer stress about the importance of technique in fiction?
40. (a) How did Showalter divide the evolution of women’s literature?
[OR]
(b) Write notes on Linda Hutcheon.
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PART - A (33X 1=33)

Answer all the questions.

1. functions as an alternative to a mouse.
(a)Joystick (b)Trackball
(c)Light Pen (d)All the above
2. allows only a paper to be scanned rather than books
(a)Sheet — fed scanners (b)Flat — bed scanners
(c)Hand-held scanners (d)Drum scanners
3. consists of three main subsystems.
()OS (b)Printer
(c)CPU (d)Scanner
4. A computer uses types of storage.
(a)2 (b)3
(c)4 (d)5

5.  Mostly, the addresses of RAM starts from

(a)0 (b)00
(¢)000 (d)00000
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10.

Clock-Speed is the rate at which a implements instructions.

()OS (b)CPU

(c)Plotter (d)Printer

COM and .BAT are files on an IBM compatible computer.
(a)Executive (b)System

(c)Batch (d)None of the above

is an example of distributed OS

(a)Windows95 (b)Amiga
(c)Amoeba (d)All the above

The interaction of row and column is

(a)Table (b)Cell
(c)Worksheet (d)yWorkbook

The ribbon view can be minimized by

(a)Clicking on minimize ribbon button (b)Double-clicking the tab on the ribbon
(c)Pressing ctrl+F1 button (d)All the above
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11.

12.

13.

14.

15.

Ray Tomlinson created first e-mail program in

(2)1962 (b)1965
(©)1972 (d)1975

could only be used for transferring the data on the same network

(a)NCP (b)TCP
(c)HTTP (d)ISP

The visitors of the website interact with the site to enhance its popularity through

(a)search engine (b)Guest book
(c)Message board (d)Polls

usually displays same information to all visitors.

(a)Dynamic website (b)Static website
(c)Hybrid website (d)All the above
The website architecture is divided into layers.

(2)2 (b)3

(c)4 (d)5
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16.

17.

18.

19.

20.

The font size for the paragraph text must be between

(a)10 and 10 pts. (b)10 and 12 pts.

(c)12 and 14 pts. (d)All the above

CERN declared that WWW would be free to be used by anyone on

(a)30 April 1993 (b)1 May 1993
(c)30 May 1993 (d)7 June 1993

Protocols transmits data in fixed-sized small packets

(a)FDDI (b)Ethernet
() ATM (d)Token ring

refers to the little image in the browser window, next to the meta-title..

(a)Blog (b)Fevicon

(c)Cookie (d)Banner

The is based on the client-server oriented approach and supported by TCP
(a)PING (b)Archie

(c)WALS (d)Gopher
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21.

22.

23.

24.

25.

An SMTP session consists of basic phases..

(a)Three (b)Four
(c)Five (d)Six

Data Conferencing is performed with the help of

(a)Camera (b)Whiteboards
(c)Speakers (d)Microphone

1s also referred to as electric white boarding.

(a)Audio Teleconferencing (b)Web Teleconferencing

(c¢)Audio-Graphics Teleconferencing (d)None of the above

writing style creates demand for writing.

(a)short and handy (b)Narrative
(c)Descriptive (d)None of the above

Inverted Pyramid rule focuses first on the

(a)Introduction (b)Explanation
(c)Descriptive details (d)None of the above
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26.

217.

28.

29.

30.

Facebook introduced the ‘newsfeed’ feature in

(2)2004 (b)2005
(¢)2006 (d)2007

Social media has become the potent source of

(a)Publication (b)Advertisement
(c)Education (d)Research

The entire strategy depends so much on advertising.
(a)Marketing (b)Production
(c)Distribution (d)None of the above

1s the main objective of the public relations officer.

(a)Giving information (b)creating interest
(c)Building the brand (d)Boosting up the demand
The is made up of pixels.

(a)Text (b)Video

(c)Audio (d)Image
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

Raster images are made up of series of very small

(a)dots (b)lines

(c)colours (d)Curves

draws huge attention of people.

(a)video (b)Animation
(c)Graphics (d)Audio
Today, is not confined only within the means of recreation.
(a)Mass media (b)Social media
(c)Gaming (d)Fine arts
PART - B

Answer all questions choosing either (a) or (b).

(a) Examine the role of IT in Communication.

[OR]
(b) Describe the functions of Operating System.

(a) What are the ways to retrieve deleted files and folders?

[OR]

(b) Explain the steps involved in adding the header and footer to the word document

(a) Comment on the term media convergence..

[OR]

(b) Enumerate the important guidelines to create a home page.
(a) Distinguish between an informational and a transactional website.

[OR]
(b) Explain the Internet Protocol Suite.

(a) Write a detailed note on veronica.

[OR]
(b) Analyse the different types of teleconferencing.

(a) Write a short note on the conventions of writing for new media.

[OR]
(b) What are the objectives of advertising?

(a) Explain the different types of forming he digital image

[OR]

(b) Describe the future trends of multimedia.
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PART - A

Answer all the questions.

1. Shakespeare composed the best of his tragedies during the period

(a)1588-1593
(c)1601-1608

2. Venus and Adonals was dedicated to
(a)Henry Wriothesley
(c)Dr. Johnson

3. sonnets are addressed to a young man
(a)124
(c)26

4. The ticket price was regulated based on

(a)profession

(c)sitting arrangement

5. The first Globe Theatre was burnt down in the year
(a)1503
(c)1603

(b)1594-1600
(d)1608-1612

(b)Christopher Marlowe
(d)Thomas De Quincey

(b)126
(d)28

(b)social Status
(d)None of the above

(b)1513
(d)1613
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10.

The quarto edition of is identified as

(a)Love’s Labour’s Lost
(c)As you like it

believes that Shakespeare’s

(a)The Taming of Athens

(c)Comedy of Errors

“Poetics” was written by

‘A pleasant conceited comedy”

(b)A Midsumme Night’s Dream

(d)Measure for Measure

is not a comedy but a romance.
(b)The Two Gentlemen of Verona
(d)Love’s Labour’s Lost

(a)Socrates (b)Plato

(c)Seneca (d)Aristotle

Shakespeare’s looks almost like a replica of a work composed by Seneca.
(a)Macbeth (b)The Tempest

(c)Titus Andronicus (d)King Lear

The first tetralogy of Shakespeare consists of parts.

(a)2 (b)3

(c)4 (d)5
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11.

12.

13.

14.

15.

Most of Shakespeare’s plays are adaptations of Holinshed Chronicles

(a)History (b)Roman

(c)Comic (d)Tragic

Maria humiliates by writing a letter, faking Olivia’s handwriting
(a)Toby Belch (b)Sir Andrew Aguecheek
(c)Sebastian (d)Malvolio

informs Orsino that Olivia will not unveil her face for seven years to show honour to her brother’s death.

(a)Cesario

(c)Valentine

1s Olivia’s uncle.

(a)Sir Toby

(c)Fabian

‘Much Ado About Nothing’ is a play of
(a)character

(c)humour

(b)Antonio
(d)Sebastian

(b)Andrew Aguecheek
(d)Malvolio

(b)wit

(d)manner
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16.

17.

18.

19.

20.

said, “Shakespeare has no heroes; only heroines”.

(a)Dr. Johnson (b)Ben Johnson

(c)Alexander Pope (d)Ruskin

fought in the final battle under the guise of King Henry.

(a)Sir John Falstaff (b)Sir Harry Percy

(c)Sir Walter Blunt (d)Earl of Northumberland

King Henry IV murderd and took over the throne of England.

(a)Henry II (b)Henry III

(c)Richard I (d)Richard 11

The tragic protagonists fail to live upto the ideals in the play “Antony and Cleopatra™ .
(a)honour (b)justice

(c)Integrity (d)Freedom

“The Life of Marcus Antonius” was written by
(a)Graham Greene (b)Sir Thomas North
(c)Raphael (d)None of the above
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21.

22.

23.

24.

25.

The character of Antony first appeared in the play
(a)All for Love (b)Antony and Cleopatra
(c)Julius Caesar (d)None of the above

The pamphlet “Her Protection for women” was written by
(a)Jane Anger (b)Catherine Belsey
(c)Peter Erickson (d)None of the above

Egyptian fetters” is nothing but
(a)love (b)Humour

(c)Peace (d)passion

(a)Pompey (b)Lepidus
(c)Enobarbus (d)None of the above
Enobarbus has some close affinity with in “As You Like It”.
(a)Touchstone (b)Jacques

(c)Duke Frederick (d)Orlando

gives a marvelously picturesque account of Cleopatra’s journey by boat to meet Antony.
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26.

27.

28.

29.

30.

There are soliloquies spoken by Hamlet.

(a)3 (b)5
(c)7 (d)9

Hamlet refuses to kill when he finds him in praying.
(a)Claudius (b)Horatio
(c)Rosencrantz (d)Guildensterm

Hamlet is the prince of
(a)Venice (b)Paris
(c)Athens (d)Denmark

was the first Elizabethan play with revenge as the central theme.

(a)The Duchess of Malfi (b)The Spanish Tragedy

(c)The Revenger’s Tragedy (d)Antonio’s Revenge

takes Desdemona’s handkerchief.

(a)Cassio (b)Roderigo

(c)Emilia (d)Bianco
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

1s often referred as the Temptation Scene in “Othello”.
(a)Sci I in Act 1T (b)Sci III in Act III
(c)Sci Il in Act IV (d)Sci Il in Act V

There are many similarities between the plots of “The Tempest” and

(a)The Fair Sidea (b)Hymenaei
(c)James’Daemonologie (d)None of the above
Alonso’s ship is returning from when it is caught in the tempest.
(a)Naples (b)Bermudas
(c)Tunis (d)Milan

PART - B

Answer all questions choosing either (a) or (b).

(a) Comment on the life and works of Shakespeare.
[OR]
(b) Explain Elizabethan theatre and audience.
(a) Analyse the major plots of Shakespearen comedy.
[OR]
(b) How are Shakespearean tragedies different from other tragedies?
(a) Explain the trajectory of Shakespeare’s historical plays.
[OR]

(b) How is the concept of mistaken identities employed in the play “Twelfth Night”.
(a) Highlight the theme of wit and humour in the play “Much Ado About Nothing”.

[OR]
(b) Explain the concept of honour in Henry IV part 1.

(a) How does Shakespeare portray the character of Antony in “Antony and Cleopatra™?

[OR]

(b) Examine the status of women in Elizabethan era.

(a) Comment on Enobarbus estimation on the character of Cleopatra.
[OR]

(b) Evaluate the use of Soliloquies in “Hamlet”.

(a) Sketch the character of Desdemona in “Othello”.
[OR]

(b) Trace the elements of tragedy and comedy in “The Tempest”.
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PART - A (33 X 1=33)
Answer all the questions.
1. Why does Darnay return to France in 17927
(a)To expose the revolutionaries (b)To help his family's steward who is in prison for helping
Darnay
(c)To turn in Defarge (d)To visit a gravesite

2. How does Sydney Carton save Charles Darnay from being found guilty of treason during the trial in England?

(a)He finds the real criminal (b)He pleads guilty to the crime himself

(c)He points out the resemblance between Darnay and (d)He proves Darnay wasn't in England when the crime was

himself committed

3. Where is Jane sent after Gateshead?
(a)Lowood School (b)Chesterfield
(c)Redding School (d)Orphanage

4. Who is Jane's friend who dies in her arms?
(a)Alice (b)Eliza
(c)Helen (d)Jennifer

5. Whom does Rochester blame for the bizarre behaviour at Thornfield?
(a)Blanche Ingram (b)Grace Poole
(c)His man servant (d)Sarah Reed
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10.

With whom does Jane live with at Gateshead at the beginning of the novel?
(a)Her aunt and her cousins (b)Her parents
(c)Mr. Rochester (d)Mrs. Fairfax

Where does Paul work?

(a)in a theatre (b)in a school
(c)Surgical appliance manufacturer (d)coal mines
What does William die of?

(a)meets with accident (b)cancer
(c)Erysipelas (d)heart attack

What is the name of Morel's Coal -mining community?
(a)The Bottoms (b)Hell's Row
(c)The Sides (d)The Tops

What does Arthur impulsively join?
(a)A theatre troupe (b)Military
(c)Football team (d)College
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11.

12.

13.

14.

15.

What does Buck call the sea?
(a)Widow maker (b)Great Mother
(c)Silent Witness (d)Ireland's bully

Who does Deasy seem to blame for the corruption and destruction of national economies?
(a)Jews (b)industrialists

(c)The Pope (d)The immigrants

When Leopold Bloom gets up in the morning and fixes breakfast, what does he ponder?
(a)A dog (b)A cat

(c)A crab (d)A camel

Hester explains the Scarlet letter to Pearl by saying it is

(a)a family heirloom given to her by her grandmother (b)a mark that is left from her meeting a Black man

(c)Symbol of a secret agency (d)just a craft

What is situated immediately outside the door of the prison in which Hester is kept?
(a)A Rosebush (b)A pine tree
(c)A gallows (d)A graveyard
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16.

17.

18.

19.

20.

What type of reading material does the priest bring to Henry while he is convalescing in the hospital?
(a)Comic novels (b)Mystery novels
(c)English Newspapers (d)Pornographic novels

What does Henry ask for in the hospital that irritates Miss Van Campen?
(a)Wine with meals (b)Conjugal visits
(c)A steak dinner (d)A private room

What place does Catherine dream of visiting after she marries Henry?
(a)Delhi (b)Los Angeles
(c)Niagara Falls (d)Paris

What game does Henry play with Count Greffi at the Stresa Hotel?
(a)Poker (b)chess
(c)Shuffleboard (d)Billiards

What is Catherine's position in the army?
(a)ambulance driver (b)doctor

(c)voluntary aid detachment (d)nurse
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21.

22.

23.

24.

25.

What is Miss Van Campen's position?
(a)Doctor (b)Nurse
(c)Superintendent (d)Police officer

What does Sonya do to support her family?
(a)steals (b)teaches
(c)begs (d)prostitutes herself

Where does Raskolnikov meet the drunk civil official Marmeladov?
(a)In Raskolnikov's apartment (b)In the street

(c)In Marmeladov's apartment (d)In a tavern

When did Gunter Grass receive Nobel Prize for literature?
(2)1999 (b)2000
(c)1974 (d)1947

The narrator in the novel Surfacing is agonized recollecting her
(a)her childhood (b)lover Joe's upbringing
(c)compulsory abortion (d)College days
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26.

27.

28.

29.

30.

The novel Surfacing is set in
(a)U.S.
(c)Canada

The christening of Mercy was postponed as
(a)Mrs. Bonner is away

(c)Belle has gone to her mother's house

The name of the ship Voss sails in is
(a)Queen Elizabeth

(c)Canberra

Who 1s the most educated of the Vicar's children?
(a)Sophia
(c)George

On what topic has the Vicar published tracts?
(a)Politics
(c)Children

(b)Australia
(d)Belgium

(b)Mr. Bonner is away
(d)Rose Portion is dead

(b)titanic
(d)Osprey

(b)Moses
(d)Olivia

(b)Matrimony
(d)Art
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31. After Emma's rejection of his proposal, where does Elton travel?

(a)Bath (b)London
(c)Sea field (d)Eton

32. Who are the Campbells?

33.

34.

35.

36.

37.

38.

39.

40.

(a)Emma's Cousins (b)Mr. Bates in-laws

(c)Mr. Knightley's tenants (d)Jane Fairfax's guardians

What is the name of Mr. Knightley's estate?

(a)Hartfield (b)Maple Grove
(c)Donwell Abbey (d)Burnswick square
PART - B

Answer all questions choosing either (a) or (b).

(a) Sketch the character of Charles Darnay.
[OR]
(b) Describe the relationship between Jane and Rochester.
(a) Comment on the relationship between Paul and his mother.
[OR]
(b) Describe Dublin as it appears in Ulysses.
(a) Comment on Catherine's relationship with Henry.
[OR]
(b) Discuss Rain as a symbol in the novel A Farewell to Arms.
(a) What does Henry allude to in the ants on the burning log?
[OR]
(b) How does Henry's perspective about war change?
(a) Analyse the major theme of Crime and Punishment?
[OR]
(b) Examine the backdrop of history in the novel Tin Drum.
(a) Justify the title Surfacing.
[OR]
(b) Comment on the structure of the novel Voss.
(a) Bring out the irony in the novel The Vicar of the Wakefield.
[OR]

(b) Discuss Emma as Comedy of errors.
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PART - A

Answer all the questions.

1. who first used the term “comparative” as an adjective?

(a)Shakespeare
(c)Dr. Johnson

2. The term ‘Comparative Literature’ was first used by
(a)Allan Tate
(c)Mathew Arnold

3. Who said “Literature is an expression of Life"?
(a)Shakespeare

(c)Jameson

4. Who said “Literature is always a criticism of Life?
(a)Tennyson
(c)Mathew Arnold

5. Popular Fiction: Ideology or Utopia was written by
(a)Terry Eagleton
(c)Christopher Pawling

(b)T.S. Eliot
(d)Ben Jonson

(b)yWilliam Wordsworth
(d)T.S. Eliot

(b)Hudson
(d)Thomson

(b)Wordsworth
(d)Charles Dickens

(b)Derrida
(d)J.K. Rowling
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10.

“Literature is an organized violence committed on ordinary speech”. Who made this statement?
(a)Bakhtin (b)Julia Kristevia
(c)Hudson (d)Roman Jakobson

“Making strange” is associated with
(a)Russian Formalists (b)French Feminists
(c)Post Colonial Critics (d)New Critics

Who is the author of the book “An Introduction to the study of Literature?
(a)W.H. Auden (b)W.H. Hudson
(c)T.S. Eliot (d)F.R. Lewis

The day of birth and death of whom is celebrated as the English Language Day?
(a)Chaucer (b)Shakespeare
(c)Dryden (d)Wordsworth

Which period 1s addressed as the ‘Dark Age’?
(a)Renaissance (b)Puritan
(c)Restoration (d)Medieval
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11.

12.

13.

14.

15.

1s famously known as Ionian School.
(a)Yale School (b)Celtic School

(c)Heptanese School (d)Russian Formalism

The critic associated with “Intertextuality theory” is
(a)Terry Eagleton (b)Bakhtin
(c)Derrida (d)Enani

Who is the author of Don Quixote?
(a)Chaucer (b)Spenser
(c)Shakespeare (d)Cervantes

Who is the founding father of American School of Criticism?
(a)Allan Tate (b)T.S. Eliot
(c)Emerson (d)Henry Remak

When was Sahitya Akademi established?
(a)1974 (b)1950
(c)1970 (d)1954
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16.

17.

18.

19.

20.

What is Ngugi Wa Thiango’s mother tongue?
(a)Hebrew (b)Greek
(c)Swahili (d)Latin

When was New Poets from Old published?
(a)1940 (b)1988
(c)1990 (d)1910

What are the two kinds of motivation?
(a)political and social (b)personal and impersonal

(c)intrinsic and extrinsic (d)social and economical

King James’s version of Bible belongs to which age?
(a)Restoration Age (b)Victorian Age
(c)Jacobean Age (d)Romantic age

The Metaphysical School of Poetry influenced modern poets like
(a)T.S. Eliot and Yeats (b)Tagore and Yeats
(c)Edmund Wilson and Carl Jung (d)Walter Pater and Dylan Thomas
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21.

22.

23.

24.

25.

Who wrote The Theory and Practice of Translation?
(a)T.S. Eliot and F.R. Leavis
(c¢)Nida and J.C. Catford

The study or science of themes is known as
(a)Thematology
(c)Grammatology

The character Bottom figures in Shakespeare’s
(a)King Lear
(c)Hamlet

Akira Kurosawa’s Thorn of blood was based on
(a)King Lear
(c)Dr. Faustus

D.G. Rossetti is associated with
(a)Pre Raphaelite brotherhood
(c)The Angry Young men

(b)William Empson and Nida
(d)Nida and Taber

(b)Narratology

(d)Hermeneutics

(b)A Midsummer Night’s Dream
(d)Othello

(b)Macbeth
(d)The White Devil

(b)Bloomsbury Group
(d)The Lost Generation
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26.

27.

28.

29.

30.

Why Translation Matters was written by

(a)J.C. Catford

(c)Susuie Taru

Who is the author of Ode to a Nightingale?

(a)John Keats
(c)Shelly

The Latin word adaptare means
(a)fitin

(c)medium

Who wrote A Theory of Adaptation?
(a)E.A. Nida
(c)Catford

Who made the movie Magbool?
(a)Vishal Bharadwaj
(c)Mrinal Sen

(b)Susan Bassnett
(d)Aphra Ben

(b)Byron
(d)yWordsworth

(b)stand out
(d)object

(b)Linda Hutcheon
(d)Henry wells

(b)Satyajit Rai
(d)Gowtham Menon
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

Who introduced the term Post dramatic theatre?
(a)Hans-Thies Lehman (b)H.G. Wells
(c)Issac Asimov (d)Spielberg

What is the final step of the process of translation?
(a)Restructuring (b)Redefining

(c)Rewriting (d)finding an equivalent

Who is the author of The History of English Working Class?

(a)E.P. Thomson (b)Charles Dickens
(c)W.H. Hudson (d)Trevelyan
PART - B

Answer all questions choosing either (a) or (b).

(a) Explain cultural studies in detail
[OR]
(b) What are the important assumptions of the French School of Comparative Literature?
(a) Discuss Makarand Paranjape’s idea of ‘being nationa™?
[OR]
(b) Comment and Elaborate — “Definition of Literature is Subjective”.
(a) Write note on “Formal equivalence and dynamic Equivalence”
[OR]

(b) What are the main objectives of studying comparative Literature in India?

(7X 6=42)

(a) Why are ancient and medical works excluded from the periphery of comparative Literature study? Explain.

[OR]
(b) Substantiate ‘Romantic Revival’ as an epoch
(a) Explain the Principles of Reception theory
[OR]
(b) Write a note on Cultural Untranslatability
(a) Give an account of ‘Rank-bound’ and ‘Unbounded’ translation
[OR]
(b) Analyse the difference between literary and non-literary texts
(a) Write a note on the relationship between theatre and literature in detail
[OR]

(b) Draw a comparative study on biography and literature
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Answer all the questions.

1. Chaucer composed a prose work “Astrolabe” for

(a)Elizabeth (b)Philippa
(c)Thomas (d)Lewis

2. According to Chaucer, - looks like Robinhood.
(a)The Yeoman (b)The Monk
(c)The Knight (d)The Squire

3. - exerted considerable influence on Spenser and his poetic achievements.
(a)William Temple (b)Edward Kirke
(c)Gabriel Harvey (d)Leicester

4. In Prothalamion, the poet saw two beautiful swans in the river
(a)Lee (b)Thames
(c)Peneus (d)Nile

5. The first printed edition of Donne’s poems was published in
(a)1623 (b)1633
(c)1611 (d)1622
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According to Donne, Death gives us
(a)pain (b)relief
(c)peace (d)pleasure

The speaker in “To His Coy Mistress™ says that his lover would find

- on the banks of Indian Ganges.
(a)rubies (b)pearls

(c)diamonds (d)emeralds

- is not a metaphysical poet.
(a)John Cleveland (b)Edward Benlowes
(c)Ben Jonson (d)George Herbert

In the poem “Garden”, forms of public virtue are mentioned.
(a)two (b)three
(c)four (d)five

. George Herbert’s was a pattern-based poem.
(a)Easter Wings (b)The Altar

(c)Jacula Prudentium (d)None of the above
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11.

12.

13.

14.

15.

God poured all his blessings on man except the gift of

(a)honour

(c)peace

In “Virtue”, the poet compared the spring season to a box of compressed

(a)flowers
(c)buds

Alexander Pope was acknowledged master of

(a)sprung rhythm

(c)heroic couplet

The budding poets are like

, according to Pope.
(a)crows

(c)cocks

Pope satirises
(a)Ambrose Philips
(c)Lord Harvey

as a plagiarist.

(b)wisdom
(d)rest

(b)sweets
(d)leaves

(b)blank verse
(d)touchstone method

(b)lions
(d)dogs

(b)Lord Halifax
(d)Addison
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16.

17.

18.

19.

20.

Thomas More and

(a)Thomas Linacre

(c)Erasmus

Amerigo Vespucci is the

explorer.
(a)Roman
(c)French

The closest disciple of Jesus is
(a)Peter
(c)Luke

Simon and Andrew are

(a)clergymen

(c)priests

The first of the Catholic Epistles is the letter of —-
(a)Jude

(c)James

produced Latin translations of Lucian’s works.

(b)William Grocyn
(d)William Temple

(b)Italian

(d)American

(b)Mark
(d)John

(b)washermen
(d)fishermen

(b)John
(d)Mathew
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21.

22.

23.

24.

25.

Bacon regarded
(a)Greek
(c)English

remained calm at the time of death.

(a)Augustus Caesar

(c)Vespasian Galba

According to Bacon, Studies serve for
(a)delight
(c)ability

- 1s regarded as Jonathan Swift’s masterpiece.
(a)Gulliver’s Travels
(c)Battle of Books

- 1s on the side of Moderns in “Battle of Books™.
(a)Pallas

(c)Momus

- as the only language worthy of a great work.

(b)Latin
(d)French

(b)Tiberius
(d)All the above

(b)ornament
(d)all the above

(b)The Drapier Letters
(d)A Tale of a Tub

(b)Jove
(d)Venus
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26.

27.

28.

29.

30.

Villuppo falsely accuses

of murdering Balthazar.
(a)Pedringano (b)Alexandro

(c)Serberine (d)Lorenzo

In Hieronimo’s play, Lorenzo acts as the
(a)Emperor (b)Pasha
(c)Knight of Rhodes (d)Hangman

Shakespeare paid tribute to Marlowe by quoting his line from

(a)Tamburlaine (b)Edward II

(c)The Jew of Malta (d)Hero and Leander
Faustus summons ——— to entertain the Duke of Vanholt.

(a)Astaroth (b)Belzebub
(c)Lucifer (d)Mephistopheles

Sheridan’s “The Critic” 1s a

(a)comic opera (b)burlesque

(c)comedy of manners (d)comedy of Humours

- in his play “As You Like It”
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31. In “The School for Scandal”,—— describes himself as an ‘extravagant young fellow’.
(a)Moses (b)Premium
(c)Oliver (d)Charles

32. The most educated child of Vicar 1s
(a)Sophia (b)Olivia
(c)George (d)Moses

33. —- predicts the future of Olivia and Sophis in “The Vicar of Wakefield”.

(a)A Gypsy (b)A priest
(c)A friend (d)Squire Thornhill
PART - B (7X 6=42)

Answer all questions choosing either (a) or (b).

34.  (a) Why is knight described first in the General Prologue?
[OR]
(b) Examine the fusion of classical and English mythology in Spenser’s “Epithalamion *.
35. (a) How is death personified in the poem “Death be not Proud”?
[OR]
(b) Explain the concept of displacement in Marvel’s poem “The Garden”.
36.  (a) Justify the title of the poem “Pulley”.
[OR]
(b) Why does the Pope attack the poets?
37.  (a) Is Utopia an ideal society? Substantiate.
[OR]
(b) What does Paul see as the relationship between Judaism and Christianity?
38.  (a) Children are the source of pleasure as well as grief - Explain
[OR]
(b) Examine “The Battle of Books” as an allegory.
39. (a) Comment on the depiction of supernatural elements in “The Spanish Tragedy “.
[OR]
(b) Elaborate on the importance of comic and tragic scenes in “Dr. Faustus”.
40. (a) How is gossip and slander Portrayed as social disease in “School for Scandal”?
[OR]
(b) Compare and contrast the characters of Sophia and Olivia in “The Vicar of Wakefield”.
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Answer all the questions.

1. Neela Padmanabhan won National Sahitya Akademi Award for the novel

(a)The Chariot Path (b)Birds in a Cage
(c)Where the Lord Sleeps (d)Iai Udhir Kalam

2. Unnamalai Achi was infected by

(a)Tuberculosis (b)Elephantiasis
(c)Cholera (d)Malaria

3. The home deity of seven-towns’ people is

(a)Odupparai (b)Singa Vinayaka
(c)Vigneshwara (d)Shiva

4. Koonangani Pillai wore a nose ring for —- years to fulfil the vow of his parents.

(a)5 (b)10
(c)12 (d)14

5. Nilapillai had an immoral relationship with ——.

(a)Velu Pillai (b)Koonangani Pillai
(c)Korami (d)Kannupillai
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10.

Hariharaputra died of :

(a)Small pox
(c)Leprosy

Rosammai is a

at Neyyar.

(a)Weaver
(c)Doctor

The first novel of Ashapurna’s trilogy is

(a)Subarnalata
(c)Bakul Katha

- comes with the marriage proposal for Biraj.

(a)Subala

(c)Subarnalata

Jogi files a case against his

(a)Mother
(c)Wife

(b)Cancer
(d)None of the above

(b)Priestess
(d)Teacher

(b)Pratham Pratisruti
(d)None of the above

(b)Suraaj
(d)Susheela

(b)Father
(d)All the above
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11.

12.

13.

14.

15.

is a strong supporter of Swadesi Movement.

(a)Malik Baba (b)Nobokumar
(c)Ambika (d)Amulya
Bhalchandra Vanaji Nemade is a writer.

(a)Malayalam (b)Telugu
(c)Kannadi (d)Marathi

Pandurang went to

to do his collegiate education.

(a)Bombay (b)Pune
(c)Calcutta (d)Bangalore

In Unarmed, Neera married .

(a)Basu (b)Vaseem

(c)Raman (d)Prashanth

Basu chose - at [IT.

(a)Electronics (b)Economics
(c)Civil (d)None of the above
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16.

17.

18.

19.

20.

- 1s the disciple of Kamandaki in Malati and Madhava.

(a)Madayantika (b)Saudamani
(c)Lavangika (d)Malati

Aghoraghanta was killed by ——.

(a)Kapalakumdala (b)Makaranda
(c)Kalahamsa (d)Madhava

Kamandaki makes

- dress up in the bridal clothes.

(a)Makaranda (b)Avalokita
(c)Madayantika (d)Lanvangika

Bhavabhti has depicted his born place Pamapuram in the play - - - - - :

(a)Malati and Madhava (b)Uttaramacharitra
(c)Mahaviracarita (d)All the above
Lanvangika is portrayed as a - - - — woman.

(a)Shy (b)Clever

(c)Bold (d)Submissive
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21.

22.

23.

24.

25.

The leading dramatists belonging to New Wave Movement are —------

(a)Girish Karnad
(c)Kambar

(b)K. V. Subbanna
(d)All the above

Lord Ganesha gives Samba a to swallow which transforms him into a women.

(a)Diamond

(c)Emerald

The king foolishly thinks that the nightingale is a

(a)Cow
(c)Donkey

White elephant means — --

(a)Government Official

(c)People

Ding Dong was appointed as the - -.

(a)Minister
(c)Chief Minister

(b)Pearl
(d)Ruby

, not the bird.

(b)Horse
(d)Goat

(b)King
(d)Politician

(b)President
(d)Prime Minister
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26.

217.

28.

29.

30.

Chamberlain passed the proclamation that Ding Dong can be given fodder from - -

(a)Australia (b)America

(c)China (d)England
According to Satchidanandan creates difference among people.
(a)Language (b)Culture
(c)Religion (d)None of the above
The world should function on the principle of , according to
Satchidanandan.

(a)Honesty (b)Justice
(c)Harmony (d)Integrity

are the symbols of hope and strength.

(a)Children (b)Leaders
(c)Elders (d)Politicians

wrote under the pen and name Nikileswar.

(a)Baddam Bhaskar Reddy (b)Yadava Reddy
(c)Venkateshwar Rao (d)Mahaswapna
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31. According to Nikileswar, poetry has beem an exploration of

(a)Justice (b)Emotions
(c)Feelings (d)Truth
32. The poem The Pleasure Dome opens with the whizzing of near the poet.
(a)Bird (b)Leaf
(c)Bullet (d)yWave

33. The poet in The Pleasure Dome does not wish to be the follower of

(a)Another man (b)Father
(c)Mother (d)Leader
PART - B (7X 6=42)

Answer all questions choosing either (a) or (b).

34. (a) Examine the role played by Papathi in Generations.

[OR]

(b) Explain Diravi’s concern for his sister Nagammai in Generations.
35.  (a) Sketch the character of Unnamalai Achi

[OR]
(b) Describe the hide-and-seek episode in Subarnalata.

36. (a) Describe the experiences of Subarnalata at Chapta.

[OR]
(b) Highlight the theme of alienation in Cocoon.

37.  (a) Compare and contrast the characters of Neera and Martha.

[OR]
(b) How does the role of Kapalakundala contribute to the main plot of the play?

38.  (a) How does Kamandaki help Madhava and Malati?

[OR]

(b) Trace the elements of farce in Sambasiva - A Farce.
39.  (a) What does the proclamation passed in favour of Ding Dong reflect?

[OR]

(b) Comment on the behaviour of the narrow - minded leaders.
40.  (a) Critically analyse the poem Black Flag in the Hands of Ambekar.

[OR]
(b) Why does the poet feel restless in the poem The Pleasure Dome?
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Answer all the questions.

l. is the study of the structure of words and how they are formed.
(a)Phonology (b)Morphology
(c)Syntax (d)Pragmatics

2. The process of converting the sender’s idea into a message is called --------------

(a)Decoding (b)Encoding
(c)Feedback (d)Transmission

3. Which of the following is not a form of non-verbal communication?

(a)Facial expression (b)Body language
(c)Written words (d)Gestures

4.  Which communication pattern is best suited for creative problem solving?

(a)Wheel network (b)Chain network
(c)Circle (d)All — Channel network

5. Which of the following patterns is common in informal communication?

(a)Chain network (b)Gossip chain
(c)Wheel network (d)Circle network

N- 1596

COURSE CODE
205233

Maximum : 75 Marks
(33 X 1=33)



10.

In which pattern of communication do employees communicate directly with immediate supervisor?

(a)Chain network (b)All-Channel network
(c)Wheel network (d)Vertical network

The great vine is a type of

(a)Formal communication (b)Informal communication

(c)Vertical communication (d)Horizontal communication

In the communication process encoding refers to

(a)Interpreting message (b)Sending feedback

(c)Translating thoughts into symbols (d)receiving the message

The chain of communication process ends at

(a)sender (b)receiver
(c)Channel (d)Feedback

Which of the following is not considered as a barrier to communication?

(a)Information overload (b)Active listening

(c)Physical distance (d)stereo typing
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11.

12.

13.

14.

15.

Which of the following is an organisational barrier?

(a)Fear of superior authority (b)Difference in status

(c)Use of complex technical terms (d)Geographical distance

Selective perceptions is an example of

(a)Psychological barrier (b)Physical barrier

(c)Organisational barrier (d)Cultural barrier

Which of the following is a semantic barrier to communication?

(a)Emotional outburst (b)Physical distance between sender and receiver

(c)Misinterpretation of words and symbols (d)Noisy surroundings

If someone is leaning away from you while talking it may signal

(a)Interest (b)Discomfort or disagreement

(c)Confidence (d)Engagement in the conversation

A firm handshake i1s generally perceived as a sign of

(a)Aggressiveness (b)Confidence

(c)Nervousness (d)Disinterest

N- 1596




16.

17.

18.

19.

20.

If you dial a wrong number, what should you do?

(a)Apologise and hang up (b)Ask for the correct number
(c)Pretend it is the right number (d)Hang up without saying anything

When placing someone on hold, what should you do first?

(a)Place them on hold without explanation. (b)Ask their permission before putting them on hold.

(c)Mute the call. (d)Transfer the call to someone else.

How should you handle unfamiliar words or names during dictation?

(a)Skip them and continue with the rest of the (b)Write down what you think you heard.
dictation.

(c)Ask the speaker to repeat or spell-out the word (d)Guess the spelling.

What should you do if you disagree with a point you made during a meeting?

(a)Raise your voice and argue. (b)Politely express your disagreement and explain the reason

(c)Leave the room. (d)Wait until after the meeting to bring it up.

What is a “quorum” in the context of a formal meeting?

(a)The number of attendees needed to take breaks (b)The minimum number of members needed for the
meeting to be valid.

(c)The number of people needed to serve refreshment. (d)The total number of speakers at the meeting.
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21.

22.

23.

24.

25.

How should a chairperson handle a participant who is monopolizing the conversation?

(a)Let the person continue to speak. (b)Interrupt and end the conversation abruptly.

(c)Politely intervene and invite others to continue. (d)Leave the meeting

Which of the following 1s an example for a good meeting participation?

(a)Interrupting others frequently. (b)Listening to others opinions before responding.

(c)Only speaking when directly asked a question (d)Staying silent throughout the meeting.

Which of the following is not a characteristic of a formal meeting?

(a)Set agenda (b)Specific start and end time

(c)Casual conversation (d)Maintaining minutes.

Brainstorming meeting are commonly held for

(a)Generating creative ideas. (b)Announcing new policies

(c)Reviewing budget (d)Socializing

Which of the following is considered inappropriate in a group discussion?

(a)Listening to Others. (b)Interrupting other participants frequently

(c)Sharing new ideas (d)offering constructive feedback.
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26.

217.

28.

29.

30.

Which of the following is an example of a visual aid?

(a)A speaker’s voice (b)A graph on a screen

(c)Background music (d)A podcast

Which of the following should not be included in a report?

(a)Relevant data and analysis (b)Personal anecdotes and experiences

(c)Clear heading and subheadings (d)Tables, graphs and charts to support the findings.

Which of the following is true about the conclusion section in a report?

(a)It presents new data and findings (b)It reiterates the key points and findings
(c)It contains the report’s bibliogarphy (d)It presents the limitations.

What are minutes in the context of a meeting?

(a)The amount of time meeting lasted (b)A summary of meeting discussions and decision

(c)A list of items on the agends (d)A report on the next meeting’s agends

What is the primary purpose of an agenda in a meeting?

(a)to entertain the participants (b)to record the meeting’s discussions

(c)to list the topics to be discussed in the meeting (d)to list participants personal details
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31. A User Manual typically contains .

(a)Instructions for installing, operating and (b)Employees benefits and leave policies
maintaining product

(c)Annual report of a company (d)a summary of business goals

32. Why is it important to include a reference list in a research article?

(a)To make the article look longer (b)to acknowledge sources and provide credibility

(c)to entertain readers (d)to avoid summarizing the article

33. What is the primary purpose of using graphic aids?

(a)to add colour to presentation (b)to visually enhance and clarify information
(c)to replace the verbal communication (d)to make a document appear longer
PART - B (7 X 6=42)

Answer all questions choosing either (a) or (b).

34.  (a) Analyse the importance of communication skills in work places.

[OR]

(b) Contrast upward and downward communication in an organisation.
35. (a) How can communication management practices ensure inclusivity and mutual understanding?

[OR]

(b) What are the various barriers in communication in an organisation?
36. (a) How can you avoid misunderstanding related to eye-contact in a cross-cultural conversation?

[OR]

(b) What are the etiquettes of telephone conversation?

37. (a) How can non-verbal cues influence an interviewer’s perception of a candidate?

[OR]
(b) What are the challenges in virtual meeting? How do you mitigate them?

38.  (a) Discuss the key qualities of an efficient Chairperson?

[OR]

(b) Why are Seminars and Conferences conducted?
39.  (a) List the advantages of using PPT.

[OR]
(b) How do you prepare a report?

40.  (a) Write a notice to be displayed in an organization for energy conservation.

[OR]

(b) How do you select a research topic?
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Answer all the questions.

1. Which of the following is an adjective?

(a)beautiful (b)run
(c)he (d)slowly

2. In the sentence “Thiruvalluvar was a poet and saint.”, the word “and” is a

(a)Noun (b)Conjunction

(c)Preposition (d)Interjection

3. In the interrogative sentences, ‘when’ ‘who’ and ‘what’ are .

(a)Pronouns (b)nouns
(c)verbs (d)adverbs
4. In the noun phrase, ““ a group of talented musicians” the head wordis ~ ?
(a)of (b)group
(c)talented (d)musician

5. Which of the following is a noun phrase?

(a)running quickly (b)She laughed loudly
(c)The beautiful garden (d)under the bridge
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10.

The wood cutter works with full of energy. The underlined phrase is

(a)Adjective phrase (b)noun phrase
(c)Adverbial phrase (d)phrasal verb

What does an adjective phrase modify in a sentence?

(a)an adjective (b)a noun / pronoun
(c)a (d)an adverb

Which of the following is an adjective phrase?

(a)running quickly (b)She laughed loudly
(c)full of energy (d)under the bridge

In the sentence “she left the house in a hurry.” The underlined phrase is

(a)Adjective phrase (b)noun phrase
(c)Adverbial phrase (d)phrasal verb

An adverbial phrase modifies in a sentence.

(a)an adjective (b)a noun / pronoun
(c)a verb (d)an adverb
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11.

12.

13.

14.

15.

In the sentence “I believe that the class went surprisingly well”. The adverbial phrase is

(a)l believe (b)that the class
(c)surprisingly well (d)believe

Choose the correct preposition to complete the sentence: The meeting will be held ~ Monday.

(a)on (b)at
(c)to (d)in

Identify the preposition in the sentence: “He puts the key in the drawer”.

(a)in (b)the drawer

(c)puts (d)he

Fill the blank choosing the correct tense form of the verb: After Rama her work, she went to lunch.
(a)finishes (b)finished

(c)had finished (d)finish

Fill the blank with correct tense form of the verb: “By next year, she---------- her degree

(a)Completes (b)will complete

(c)completed (d)has completed
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16.

17.

18.

19.

20.

Identify the tense form of the verb (“Dad will not have gone to London next week”)

(a)Future tense (b)future perfect tense

(o)future perfect continuous tense (d)present perfect tense

In which sentence simple future tense is used correctly

(a)They would meet at the railway station next week (b)They will be meeting at the railway station next week

(c)They will meet at the railway station next week (d)They shall meet at the railway station next week

Identify the sentence which is in passive voice

(a)she has to deliver the letters (b)the letters has to be delivered by her
(c)the letters have to be delivered by her (d)the letters had to be delivered by her

Identify the subject of the following sentence: Uma’s father met with an accident

(a)Uma (b)accident
(c)Uma’s father (d)met

Which is the correct passive voice form of the given sentence: “The mother bird feeds the chicks in the nest”

(a)the mother bird is fed the chicks in the nest (b)the mother bird is feeding the chicks in the nest
(c)the chicks are being fed by the mother bird (d)the chicks are fed by the mother bird
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21.

22.

23.

24.

25.

Which of the following is the superlative degree of adjective of “popular”.

(a)Popularly (b)popularity

(c)more popular (d)most popular

Identify the degree of adjective of the given sentence: “No other flower is as beautiful as lotus”

(a)Comparative degree (b)Superlative degree

(c)simple degree (d)Positive degree

Which of the following adjective is in superlative degree ;

(a)Beautiful (b)most beautiful
(c)more beautiful (d)most beautifully

An adjective clause is a clause that

(a)describes a verb (b)describes another clause

(c)describes the state of being (d)describes a noun or a pronoun

Which word introduces an adjective clause?

(a)however (b)because
(c)whom (dywho
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26.

217.

28.

29.

30.

Identify the sentence type: “I went to playground and played cricket”

(a)Simple sentence

(c)passive sentence

Identify the sentence type: “In spite of his 1ll health, he attended the marriage.’

(a)Simple sentence

(c)passive sentence

A sentence has only one independent clause.

(a)Simple sentence

(c)passive sentence

Which of the following is an interrogative sentence.

(a)Alas, What a great loss!

(c)Don’t waste your time

(b)complex sentence

(d)compound sentence

b

(b)complex sentence

(d)compound sentence

(b)complex sentence

(d)compound sentence

(b)What a heavy rain!
(d)Are you listening to me?

Change the sentence in to interrogative; “This is your fault.”

(a)ls this your fault?
(c)Why is this fault?

(b)What 1s the fault?
(d)How is this fault?
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31. Which of the following is an independent clause?

32.

33.

34.

35.

36.

37.

38.

39.

40.

(c)On her arrival

(a)Let not the equipment touched
(c)Let the equipment not touched

(a)When she had arrived (b)If She arrived
(d)Her friend released the album

Choose the correct passive form of the sentence: “Don’t touch the equipment.”

Identify the irregular verb.

(a)kill (b)deposit
(c)win (d)look
PART - B

Answer all questions choosing either (a) or (b).

(a) Discuss the different kinds of nouns.

[OR]

(b) What are interjections? How do you use in sentences?
(a) What are the various functions of a noun phrase?

[OR]

(b) How do you use adjective phrases in sentences?

(a) Discuss how adverbial phrases modify verb, adjective and adverb?

[OR]

(b) Define Preposition and their functions.
(a) Discuss the use of Simple past tense.

[OR]

(b) Explain often committed mistakes between subject verb agreement.
(a) Discuss the steps involved in changing Active in to passive voice?

[OR]

(b) Analyse the various types of clauses.
(a) Contrast Active and Passive voices.

[OR]
(b) What are the different types of interrogatives?

(a) What is a complex sentence? Discuss with examples.

[OR]

(b) Elucidate synthesis of sentences

(b)Let the equipment not be touched
(d)Let the equipment is not touched.

(7X 6=42)
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Answer all the questions.

1. What is the main theme of the poem “Tintern Abbey”?
(a)The beauty of nature (b)The power of memory
(c)The importance of friendship (d)The joy of youth

2. Name the river that the poet talks about in the poem “Tintern Abbey”?
(a)River Nile (b)River Mississippi
(c)River Wye (d)River Ganges

3. Who is accompanying the poet to Tintern Abbey?
(a)his friend Colredige (b)his sister Dorothy
(c)A stranger (d)He travels alone

4. What was Alph?
(a)an angel (b)holy book

(c)sacred river (d)rosary

5. The musical instrument that the Abyssinian maid had in her hand was
(a)dulcimer (b)flute

(c)mouth organ (d)saxophone
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10.

Where did Kubla Khan wanted the palace to constructed?
(a)China (b)heaven

(c)Xanadu (d)ancient Rome

How is the Grecian Urn described by the Poet?
(a)a rising star (b)a sea bird

(c)bride of quietness (d)a chatterbox

What does Keats refer to as 'Sylvan historian'?
(a)the Grecian Urn (b)an historian of the ancient times

(c)a beautiful princess (d)trees

What is the state of the happy boughs mentioned in the poem Ode on a Grecian Urn?
(a)shedding leaves continuously (b)forever green and full of leaves

(c)bare and lifeless (d)only flowering in the spring

What does 'Azure sister' refers to?
(a)Autumn (b)Winter
(c)Spring (d)Summer
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11.

12.

13.

14.

15.

Who 1s Maenad?
(a)An alien

(c)A Greek priestess

What is Clarion in the poem “Ode to the West wind”?
(a)Sword
(c)a cliff

Who is the speaker in the poem “My Last Duchess”?
(a)The Poet Robert Browning
(c)Duke of Ferrara

Who painted the portrait of the Last Duchess?
(a)the Duke of Ferrara
(c)Fra Pandolf

Why did the Duke kill the Duchess?
(a)she was not beautiful

(c)she was not faithful

(b)Ghost
(d)Prince from Athens

(b)musical instrument

(d)an arrow

(b)Duchess of Malfi
(d)The Duke's wife

(b)Duchess herself
(d)Picasso

(b)she was arrogant

(d)she failed to give dowry
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16.

17.

18.

19.

20.

How many lilies are there in the hands of the Damozel?

(a)one
(c)three

The poet compares the hair of the Damozel's to?
(a)sunshine

(c)red carrot

What does the Damozel yearn?
(a)Company of her lover
(c)wealth

Who is the son of Ulysses?
(a)Telemachus
(c)Hyades

What is boring for Ulysses?
(a)travelling

(c)to be stationary at one place

(b)two
(d)five

(b)cascade
(d)yellow like ripe corn

(b)fame
(d)beauty

(b)Oedipus
(d)Achilles

(b)reading

(d)conversing.
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21.

22.

23.

24.

25.

Who is Achilles?
(a)son of Ulysses (b)hero of Trojan War
(c)a co-sailor (d)captain of the ship

Who is the speaker in the poem Ulysses?
(a)Telemachus (b)Ulysses
(c)A Co-sailor (d)Penelope

Identify the Greek tragedian that Arnold refers to in “The Dover Beach.”
(a)Homer (b)Virgil
(c)Seneca (d)Sophocles

Where did the Great Grand Mother of the Dream Children live?
(a)Norfolk (b)New York
(c)Paris (d)London

Why did Ho-ti at first curse his son?
(a)son was disobedient (b)their custom was to eat raw meat

(c)because the cottage was burnt (d)because he stole the neighbour's money
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26.

27.

28.

29.

30.

Who is the Father of Italian language according to Carlyle?

(a)Dante
(c)Euripides

(b)Virgil
(d)Homer

Who is the English poet who managed to put English on the world map, according to Carlyle?

(a)Wordsworth
(c)Shakespeare

The Victorian age was dominated by
(a)Feminist theory

(c)New Historicism

What is Jane Fairfax's connection to Miss Bates?
(a)Jane is Ms. Bates's sister

(c)Jane is Ms. Bates's niece

From whom does Frank rescue Harriet?
(a)a rapist
(c)Robert Martin

(b)Tennyson
(d)T. S. Eliot.

(b)Marxist theory
(d)Utilitarian theory

(b)Jane 1s Ms. Bates's childhood friend
(d)Jane 1s Ms. Bate's Mother in law

(b)a robber
(d)Gypsies
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

Kenilworth is set during the reign of

(a)Henry VIII (b)Richard 11

(c)Queen Elizabeth I (d)Queen Victoria

What is Jacques a code name for?

(a)revolutionaries (b)Englishmen

(c)Aristocrats (d)spies

Whom does Doctor Manette think Lucy is at first?

(a)Madame Defarge (b)a ghost

(c)His mother (d)His late wife.
PART - B

Answer all questions choosing either (a) or (b).

(a) Discuss Wordsworth's attitude towards Nature .
[OR]
(b) How is the river Alph described by Coleridge in the poem “Kubla Khan”
(a) How does Shelley describe the Mediterranean Sea in the poem “Ode to the West Wind.”
[OR]
(b) Attempt a critical appreciation the poem “Ode on a Grecian Urn”
(a) List the elements of dramatic monologue in My Last Duchess.
[OR]
(b) Summarise the poem The Blessed Damozel
(a) Analyse Ulysses's message to the mariners
[OR]
(b) Trace the spiritual decline as portrayed in The Dover Beach.
(a) Estimate Carlyle's opinion on Shakespeare
[OR]
(b) Attempt a critical appreciation of the essay A dissertation Upon a Roasted Pig.?
(a) Sketch the character of Emma
[OR]
(b) Trace the theme of Kenilworth
(a) Why does Emma say that she will never marry?
[OR]
(b) Analyse A Tale of Two Cities as historical novel
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Time : 2 Hours
PART - A

Answer all the questions.

1. The English language is closely associated with languages.
(a)Frisian (b)German
(c)Dutch (d)All the above
2. said, “English is likely to have an important place in the foreseable future
(a)M.K. Gandhi (b)Nehru
(c)Raja Rao (d)None of the above
3. Historically, English language has been traced to Germanic tribes.
()2 (b)3
(c)4 (d)5
4. The Words yam and banana are borrowed from languages.
(a)Pacific Rim (b)Semitic
(c)African (d)European
5. refers to the shortening of a polysyllabic word to create a new word.
(a)Clipping (b)Blending
(c)Reduplication (d)Compounding
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10.

Fortunatore is a Philologist.

(a)German (b)Greek
(c)Latin (d)French
The language record a wholesale change.

(a)Slavonic (b)Sanskrit
(c)Germanic (d)Greek

demonstrated that there were exceptions to Grimm’s Law.

(a)Thompson (b)Hermann Grassmann
(c)Verner (d)Rasmusk Rask

The changes in spelling convention was mainly due to the influence of

(a)French (b)Latin
(c)Greek (d)All the above

proposed a respelled English called ‘Aliglie’

(a)Dean Howell (b)Noah Webster
(c)Zachrisson (d)Andrew Carnegie
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11.

12.

13.

14.

15.

of words in English come from Greek

(a)4% (6)6%
(€)26% (d)29%

Albatross and Flamingo are the words from

(a)ltaly (b)Dutch
(c)Netherlands (d)Portuguese

said, ‘Vocabulary is the Everest of a language’

(a)Otto Jesperson (b)David Crystal
(c)Dryden (d)A.C. Baugh

Joshua A. Fishman said that ‘English is the language of

(a)globalisation (b)socialisation
(c)transformation (d)Communication
In the eighteenth century, published the first dictionary.
(a)Bacon (b)Ben Jonson
(c)Samuel Johnson (d)Spenser
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16.

17.

18.

19.

20.

The most prominent difference between American English and British English is

(a)grammar (b)spelling
(c)pronunciation (d)vocabulary

The maritime expedition of led to colonial expansion of Europe.
(a)Magellan (b)Vasco da Gama
(c)Amerigo Vespucci (d)Columbus

is also known as the Adam’s apple.

(a)Larynx (b)Lung

(c)Pharynx (d)Throat

There are back vowels in English

(a)4 (b)5

(c)3 (d)2

In case of influence, words usually have an accent at the beginning.
(a)Roman (b)Modern English
(c)Germanic (d)French
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defined stress as the force used in speaking.

22.

23.

24.

25.

(a)Palmer (b)Daniel Jones
(c)David crystal (d)Bloch & Trager
The word ‘calculation’ has syllabus

(a)2 (b)3

(c)4 (d)5

The International Phonetic Alphabet was established in 1886 in

(a)Lucknow (b)London
(c)New York (d)Paris
There are types of phonetic transcriptions.

(a)2 (b)3

(c)4 (d)5

The study of underlying structure of sentence is called

(a)Semantics (b)Syntax

(c)Pragmatics (d)Morphology
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26.

27.

28.

29.

30.

According to , Language is human and non-instinctive method of Communicating ideas, emotions and

desires by means of voluntarily produced symbols.

(a)Aitchinson (b)Brown
(c)Rodman (d)Sapir

The book “Course in General Linguistics” was written by

(a)William Labovo (b)Charles F Hockett
(c)Sassure (d)Noam Chomsky

1s the individual’s use of language.

(a)Langue (b)Parole

(c)Competence (d)Performance

IC analysis was first mentioned by

(a)Bloomstield (b)Sassure

(c)Murray (d)Chomsky

The work of 1s the model for all grammars of European languages.
(a)Sassure (b)Roland Barthes
(c)Dionysius Thrax (d)None of the above
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31. Geoffry Leech’s “The study of Meaning” was published in

(a)1980 (b)1981
(c)1982 (d)1983

32. Girce formulated the theory of

(a)Conservational Implicature (b)Speech Acts
(c)Discourse (d)Pragmatics
33. classified the dream as the distinguished fulfilment of a suppressed or repressed wish.
(a)Morris (b)Jakobson
(c)Derrida (d)Freud
PART - B (7X 6=42)

Answer all questions choosing either (a) or (b).

34. (a) Comment on the impact of India’s multicultural and multilingual heritage on the English language.

[OR]

(b) Explain how the meaning of words have changed over a period of time.
35. (a) Examine the different laws of phonetics.

[OR]

(b) Describe the reforms in spelling.
36.  (a) Enumerate the foreign elements in English Language.

[OR]

(b) Comment on the impact of globalisation on the status of English.
37. (a) How does American English differ from British English?

[OR]
(b) Elucidate the difterent types of diphthongs.

38.  (a) Discuss the rules for Intonation in English.

[OR]

(b) Distinguish between phonemic and phonetic transcriptions.
39. (a) What are the salient features of language?

[OR]

(b) Why are language varieties known as dialect rather than languages?
40.  (a) Analyse the concept of IC analysis.

[OR]
(b) Explain the three Acts favoured by Austin.
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Answer all the questions.

1. was used as the language of international diplomacy from the 17th century to 20th century.

(a)Greek (b)French
(c)Latin (d)German

2. The Official Language Act was enacted in the year

(a)1961 (b)1962
(c)1963 (d)1964

3. The Kothari Commission termed English as a language.
(a)library (b)link
(c)global (d)official

4. said, ‘A lesson plan is actually a plan of action’.
(a)Bining and Bining (b)Lester B. Sands
(c)N.L. Bossing (d)None of the above

5. The concept of micro teaching was introduced in India in

(2)1964 (b)1965
(¢)1966 (d)1967
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10.

followed the principles of Dur Kheim

(a)Ferdinand de Saussure
(c)Wilkins

Learning of any language 1s based on the principle of

(a)Selection

(c)imitation

Grammar is taught inductively in method.

(a)Bilingual
(c)Substitution

A method has components.

(a)3
()5

Oral work is the soul of the approach.

(a)Situational

(c)Suggestopedia

(b)Noam Chomsky

(d)Zhirmunsky

(b)gradation

(d)motivation

(b)Direct
(d)All the above

(b)4
(d)6

(b)Audio-lingual
(d)Structural
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11.

12.

13.

14.

15.

says, ‘The speech is the language’.

(a)F.G. French (b)Charles Fries
(c)Wilkins (d)Sassure

In approach, teachers are passive.

(a)Structural (b)Situational
(c)audio-lingual (d)Lexical

“Teaching Strategies” was written by

(a)Leif Daniel (b)Sonenshein
(c)C.C. Fries (d)W.N. Fries

The common unit of prose is

(a)Tone (b)meter
(c)rhyme (d)Sentence

Poetry is the rhythmical creation of thought, according to

(a)Hudson (b)Milton
(c)Edger Allen Poe (d)yWordsworth
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16.

17.

18.

19.

20.

does not have much importance in poetry teaching.

(a)Poetic diction (b)Assignment

(c)Choral recitation (d)Rhythm

Functional side of language is emphasised in grammar.

(a)Prescriptive (b)Descriptive

(c)Structure (d)Transformational — Generative

The deductive method proceeds from law and rule to

(a)Observation

(c)explanation

says, ‘Grammar is not a code of rules; it 1s like etiquette and table manners, a statement of convention’.

(a)Dr. Sweet

(c)Prof. Sonenshein

David Warwick has identified

(a)2
(c)4

(b)definition

(d)translation

(b)Prof. W.N. Francis
(d)Dr. West

approaches to team teaching.

(b)3
(d)5
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21.

22.

23.

24.

25.

The School council was formed in England in

(a)1964 (b)1965

(c)1966 (d)1967

The approach was developed by W.H. Kilpatrick and John Deway.
(a)Evaluation (b)Project

(c)Analytic (d)Descriptive

not one of the steps of Herbatian approach to Lesson Planning.

(a)Association (b)Generalisation
(c)application (d)Pupil activity
The video signals consist of colours.

(a)2 (b)3

(c)4 (d)5

Instructional aids are used to

(a)provide variety (b)create interest
(c)save time (d)All the above
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26.

217.

28.

29.

30.

Socrates developed a programme in

(a)Geometry (b)Psychology
(c)Technology (d)None of the above
If there 1s no change in , there has been no learning.
(a)teaching (b)instruction
(c)behaviour (d)practice

developed a strategy called branching / intrinsic programming.
(a)Roth Kopf (b)Norman A. Crowder
(c)Rober Mager (d)B.F.Skinner
Reading is a process that negotiates the meaning between the and 1ts reader.
(a)text (b)theme
(c)imagination (d)writer
According to , translation may be regarded as one important creative activity.
(a)Alda. (b)Arthur Koestler
(c)Csikszentmihalyi (d)Phili
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

reading is for the sake of pleasure.

(a)Intensive (b)Extensive
(c)Silent (d)Loud

means the stability of test scores.

(a)Content validity (b)Face validity
(c)Reliability (d)Empirical validity
There are modes of scholastic assessments
(a)2 (b)3
(c)4 (d)5

PART - B

Answer all questions choosing either (a) or (b).

(a) Examine the significance of English as a global language.

[OR]

(b) What are the effective ways to introduce a lesson?
(a) Explain the linguistic principles.

[OR]

(b) Describe the nuances of direct method.

(a) Distinguish between method and approach.

[OR]
(b) Discuss the pitfalls of teaching prose in the present days.

(a) Illustrate the procedure of teaching poetry.

[OR]
(b) How can Grammar be taught?

(a) What are the different methods of organising teams?

[OR]

(b) Comment on Gloverian approach.
(a) Bring out the significance of Instructional Aids

[OR]

(b) Enumerate the principles and objectives of linear programming
(a) Why is an inclusion of creativity important in teaching?

[OR]

(b) Explain the importance of tests and evaluation.
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